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1 [bookmark: _Ref118271349]	Introduction
RAN4 discussed the topics for rel-18 RedCap [1] RRM requirements and the issues are captured in the way forward (WF) [2]. This contribution paper provides further discussion on the issues in this WF.
2 Discussion on transition requirements
The open issues are captured below: 
	Transition requirements
· Define requirement for the transition between short INACTIVE eDRX (≤10.24sec) and long INACTIVE eDRX (20.48sec) for at least the following cases
· Case 1: transition between short INACTIVE eDRX (≤10.24sec) and long INACTIVE eDRX(20.48sec) within same cell
· Case 2: UE moves from a cell that supports and configures Rel-18 INACTIVE eDRX to a cell that supports only Rel-17 INACTIVE eDRX and vice versa
· FFS whether to reuse legacy requirements or introduce new requirements



Based on our observation, in previous releases when the UE transiting from one state to another, the UE follow the less stringent requirement of the two requirements corresponding to the first state and the second state2, as depicted in Figure 1. Therefore, RAN4 should reuse the legacy requirements for this scenario, i.e., ‘the UE follow the less stringent requirement of the two requirements corresponding to the first state and the second state’.
[image: ]
Figure 1: Illustration of transition between two states
Observation 1: [bookmark: _Ref78929180]In previous releases the requirements for the UE transiting from one state to another has the following requirements: ‘the UE follow the less stringent requirement of the two requirements corresponding to the first state and the second state’.
Proposal 1: [bookmark: _Ref131860474]RAN4 should reuse the legacy requirements for this scenario, i.e., ‘the UE follow the less stringent requirement of the two requirements corresponding to the first state and the second state, during the transition time interval which is the time corresponding to the transition requirement. After the transition time interval, the UE shall meet the requirement corresponding to the second state’.
3 Summary
[bookmark: _Ref92572437]In this contribution, we have the following proposals: 
Observation 1: In previous releases the requirements for the UE transiting from one state to another has the following requirements: ‘the UE follow the less stringent requirement of the two requirements corresponding to the first state and the second state’.
Proposal 1: RAN4 should reuse the legacy requirements for this scenario, i.e., ‘the UE follow the less stringent requirement of the two requirements corresponding to the first state and the second state, during the transition time interval which is the time corresponding to the transition requirement. After the transition time interval, the UE shall meet the requirement corresponding to the second state’.
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